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If so, it is indeed a good question — 7% ROWP DR 957 9N

OVERVIEW

After X237 finished interpreting the Xn»92 of 7P °27 Xin it seems that from the
>™213 of 12°13 (the H93), Man v MW (the 2°v19), and o»n (the final %5) we can
derive everything, why therefore do we need X¥nn Xx¥ni. This is the current
question. MdOIN discusses the answer somewhat.
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And the X3 answered this question;” because there is a refutation to this 5",
which will not allow us to derive everything (without X¥nn Rx»ni7) —

mooIn responds to an anticipated difficulty:
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Even though this refutation is not mentioned in the Xn92; nevertheless it
should not concern us, for the reason it is not mentioned is because he did not
care to mention it.

SUMMARY
Sometimes the Xin does not fully express himself and relies on us to make the
correct conclusion.

THINKING IT OVER

Is Mo response appropriate according to both explanations (the *"3 and the 427’
"waob 1X71) given in the previous TnX* 7"7 Moow,” or only according to one
explanation?®

" The answer is because the last 995 is 01 which limits it to n"va. See following ¥2°7 7"7 "o,

* See ‘Overview’.

? Since the Xn*13, according to X2, was discussing the need for X¥nn X3»77; why after all was said, it did not explain
the need for Xxnn RXnH7.

* Perhaps the main goal of the n"7n was to prove that we can derive everything from the o°p100. However the manner
he presented it was in a question and answer format, why we need (X¥»n Xx17, and) this v99, etc.; once we arrived at
a (seemingly) valid 2" to include everything (which was his main goal), he relied on us to figure out why Xxni
XX¥nn is necessary (as the X3 continues to explain). See 77N *w1on R # 44,

> See there TIE footnote # 36

6 See TN *wADn XN # 49,
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